$$\frac{3}{3} = u^{3} + (t-u) + 2tu(t-u) + u^{3}(t-u) + u(t-u)^{3}$$

$$\frac{1}{3} = u^{3} + (t-u) + 2tu(t-u) + u^{3}(t-u) + u(t-u)^{3}$$

$$\frac{1}{4} = u^{3} = (t-u)^{3} + (t-u)[2tu + u^{3} + u(t-u)]$$

$$\frac{1}{3} = u^{3} = (t-u)^{3} + (t-u)[2tu + u^{3} + u(t-u)]$$

$$\frac{1}{3} = u^{3} = (t-u)^{3} + (t-u)[2tu + u^{3} + u(t-u)]$$

$$\frac{1}{3} = u^{3} = (t-u)^{3} + (t-u)[2tu + u^{3} + u(t-u)]$$

$$t^3 - u^3 = (t - u)^3 + (t - u)(3tu)$$
 = geometry+

write

$$n = t^3 - u^3$$
 (2)

$$M = X + X \cdot M$$

$$(1) u = \frac{m}{3t} \xrightarrow{Sub} (2) n = t^3 - \left(\frac{m}{3t}\right)^3 = t^3 - \frac{m^3}{a7t^3} \implies n = t^3 - \frac{m^3}{a7t^3}$$

$$\left[\begin{array}{c} now & mult. \\ by & t^3 \end{array} \right]$$

$$t^6 - nt^3 - \frac{m^3}{a7} = 0$$
 quadvatiz

$$\frac{1}{2} = \frac{n + \sqrt{n^2 + \frac{4}{31}m^3}}{2} = \frac{n}{3} + \frac{1}{2}\sqrt{n^3 + \frac{4}{31}m^3}$$

$$t^{3} = \frac{n}{3} + \sqrt{\frac{n^{3} + \frac{m^{3}}{37}}{n^{3}}}, \lambda 0$$

$$t^{3} = \frac{n}{3} + \sqrt{\frac{n^{3} + \frac{m^{3}}{4}}{n^{3}}}, \quad \lambda = \frac{3\sqrt{\frac{n}{2} + \sqrt{\frac{n^{3} + \frac{m^{3}}{4}}}}}{\sqrt{\frac{n^{3} + \frac{m^{3}}{4}}{n^{3}}}}$$

$$\frac{1}{5}(2) = \frac{1}{5} \frac{1}{5}$$

$$=\frac{1}{2}+\sqrt{\frac{n^3}{4}+\frac{m^3}{37}}-n$$

$$U = \frac{3\sqrt{-\frac{n}{2} + \sqrt{\frac{n^2}{4} + \frac{m^3}{27}}}$$

Ex. Solve
$$9x^3 - 9x = 4$$
 $\sim x^3 - x = \frac{4}{9}$ Form: $x^3 + mx = n$

Form:
$$x^3 + mx = n$$

$$\Rightarrow m = -1, n = \frac{4}{9}$$

$$x = \frac{3}{\sqrt{\frac{n^2}{27} + \sqrt{\frac{m^3}{4 + \frac{m^3}{27}}}}}$$

$$\chi = \frac{3}{\sqrt{\frac{n^2 + \frac{m^3}{4 + \frac{m^3}{27}}}} - \frac{3}{\sqrt{\frac{n^2 + \frac{m^3}{4 + \frac{m^3}{27}}}}$$

$$= \sqrt[3]{\frac{2}{9} + \sqrt{\frac{4}{81} - \frac{1}{27}}} - \sqrt[3]{\frac{-3}{9} + \sqrt{\frac{4}{81} - \frac{1}{37}}}$$

$$= \sqrt[3]{\frac{2}{9}} + \sqrt{\frac{4}{81} - \frac{1}{273}}$$

$$= \sqrt[3]{\frac{2}{9} + \sqrt{\frac{4}{81} - \frac{1}{273}}} - \sqrt[3]{\frac{2}{9} + \sqrt{\frac{4}{81} - \frac{1}{373}}} = \sqrt[3]{\frac{2}{9} + \sqrt{\frac{1}{81}}} - \sqrt[3]{\frac{2}{9} + \sqrt{\frac{1}{81}}}$$

$$= \sqrt[3]{\frac{3}{q}} - \sqrt[3]{\frac{-1}{q}}$$

$$\frac{\sqrt[3]{3}}{\sqrt[3]{9}} = \frac{\sqrt[3]{1}}{\sqrt[3]{9}} = \frac{\sqrt[3]{1}}{\sqrt[3]{9}}$$

$$= \sqrt[3]{\frac{3}{q}} - \sqrt[3]{\frac{-1}{q}} = \sqrt[3]{\frac{3}{3}} - \sqrt[3]{-1} + \sqrt[3]{\frac{3}{2}} = \sqrt[3]{\frac{3}{3}} + \sqrt[3]{\frac{3}{3}} = \sqrt[3]{\frac{3}{3}}$$

$$= (3^{2/3} + 3^{1/3}) 3^{1} = 3 + 3^{-2/3} = u + u^{2}$$

cheek:
$$\frac{3}{13}$$
 so $u = 3 = \frac{1}{3}$, $u = 3$, $u = 3$, $u = 3^{-2}$

$$\chi^3 - \chi = \frac{4}{9}$$
 idea $\chi = u + u^2$

$$\left(u + u^2 \right)^3 - \left(u + u^2 \right) \stackrel{?}{=} \frac{4}{9}$$

$$\frac{3}{3} + 3 \frac{2}{3} + 3 \frac{2}{3} + 3 \frac{2}{3} + 3 \frac{3}{3} + 3 \frac{3}$$

$$\frac{1}{3} + \frac{3}{3} = \frac{1}{3} + \frac{1}{9} = \frac{4}{9}$$



Gerolamo Cardano

- 1. Born 1502
- ▼2. Father
 - a. Fazio Cardano
 - b. Student of perspective
 - ▼c. Professor
 - ▼i. hermetical science
 - 1. Based on purported teachings of Hermes
 - 2. primeval divine wisdom, revealed to the few
 - ▼ d. Devoted to the world of the occult.
 - i. Supernatural beliefs outside of science & religion
 - ii. had a "familiar" spirit
 - e. Friend of Leonardo Da Vinci
- ▼3. Mother
 - a. Tried to abort Gerolamo



